TRER
2006-# 2B 1 4 it
0 - S -

3MC1

Gl
HH % ik A AAEA
40500
2HEA B FHF
¥ £ 5 0+ @
3 871 1
4 209 1
5 3 1
6 255 1
7 43 1
8 C 1
9 85 1
10 A 1
11 915 1
12 T A g RETRET LR
246+ ( 246+ 120 ) 1 SN HE R R E S L TS
=246+ 366 bl4e 0 246 + 120 4 246
=612 ( + ) | Bxa (C %R
EV = &Zds (OF r5REL)
PP EE R K
246+ 120 = 366
A X FHTERTET DA 5T
246+ 366 = 612 ( * )
13 | prifsp il
50—5 x 7 1 FlNA CH B PR E RS VRERE
=50— 35 )4 : 50 — (5+5+5+5+5+5+5)
=15 (~) / $15 ] Bxa (C %min)
= 2ds (% gpdmRitL)
b
[P AT X REE
5 x 7=35(C~=~) /%35
AR A BN
50—-35=15 (=~ ) / $15
14 765
15 A
16 7%
0 FH&H sl % /5 2006 1




3MC1

L S & & ARAFHE
17(a) | =4 24~7 1 Eoe & i oV
17(b) | ®==x%18-~0/18~ % ¥ 1 ¥4 %A 2 EX 1800
17(c) | Bl @ 7 = 3 & crfl % 1 R
18 57 1 T k156 158 RN iz RakiE
19(a) | D 1
19(b) | B 1
19(c) | B 1
19(d) | A 1
20 1 s R F o TRHE TR B
LA F 3L L ERE
21(a) | & = % 1 THEA A
21(b) | & = % 1 ¥ %R
22 C 1
23 2150 1
24(a) | %/ g/ gm 1 P EREEEF
24(b) | 5./ g/ gm 1 PR EYF
24(c) | =~ 5 /+ %/ kg / Kg 1 PR
24(d) | 5./ g/ gm 1 PN A
25 KR EHETEH BT LL th 1
26(a) | 2 /22 /L /| 1 P EE T
26(b) | =2/ mL / ml 1 P ERLENF
27(a) | Fli 1 PRERLEYF
27(b) | % 4 1 P RSN
27(c) | & 4 1 P RE g
27(d) | 4 1 IR T
28(a) | I 1 FRERENF
28(b) | % 1 - Ak
28(c) | 7 % 1 PRI A T RLEYF
28(d) | =~ % 1 FREL A T RIEYF

O F&EF K EHZ s 2006 2



3MC1

15 E R ik A pERY A 2B
29(a) | B~ D 1 ¥ LA EAXE R
29(b) | F 1
29(c) | E 1
30 Fd- BEEZ 4 1 'L’»/‘Eé’:}é},%z’ﬁmgﬁal,puﬂ:’,f‘
SHBL L £ HZ & 07 BE > AEREITC
31(a) | A~B~C-D 1 DA EE EFRE 0
31(b) | E~F 1 ¥ LA BAKRE I
32(a) | B~ D 1 DAL EFRE I 0
32(b) | C~E 1 DHA LA BEFIRE 0
33 C 1
34 % 1 R T PTANE
35 AL D C AT dcF v F ¥ il L 1 BRI VRS E A4 iR
#c P eEF T3CF, 2 r@:?w%J 3
TR BFEo TN R F R
3 B9 T chiichy
[ I NN 1 LT > 2 A LA
36(a) | 6
36(h) | =5 A3 -3 1 A EA
& R~ dAF 3
36(c) | AR 1 DHA LA BEAERE I o
Fmixr A () R ES ?*ﬁﬁl’éﬁ“‘f& B WA
(2) 544“%\5- PEERE
3) & ‘\‘V“Lgﬁﬁi%‘mik@é’I&Eﬁ%iﬁi’?%"E;’%/ﬂ\o

o

ooaa (1) ERDAE R ERHE TR -
(2) «}\‘%vﬁ‘ FPEEREL
(B) 2~ #4758 B im v 2w BEEY (WwEE) SHMAR -

O F&EF K EHZ s 2006 3



